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Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

Ryt PR (FEueR FRiTER) 59 1oR o1 fier 22
1. Mood / AIGRI (FS)

2. Learning / 3ifem#

3. Personality / afthea

4. Thought / fa@mR (Te)

Correct Answer :-

« Mood / TG (I8)

2) Which of the following best describes the Theory of Mindset? /

FrafifEa # & oF-u1 ariea & Risia o1 9 st aui S 82

1. Fixed mindset stops cannot be changed / TR ARI® T form (fheRTs Esde w€) I ISl 8] off Tobell B
2. Fixed mindset only brings failure / RR AR (ﬁﬁﬂg HIgSYC) HId BT St %I

3. Growth mindset defines Intelligence / Ui AARiedr, gig @ aRena &xar &1

4. Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. / W& HATARIGT, JHAGAAT P Th A THAT & T I c@d §,
gura 3R Refd @9 @1 3@ &

Correct Answer :-

- Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. / Wig AT, FHFAT P TH AH FTHAT & T H @A &,
gura 3R RAefad @9 @1 3@ &

3) Which of the following is a social-learning theorist? /
frafaf@d & A o= ve arie-fRian Rigia 22
1. Bandura/ ST

2. Freud/ %BIIs

3. Wundt/ gue

4. Pavlov/ gT@alia
Correct Answer :-

- Bandura/ Sg1

4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/

FEL 1198 B =it § 3R 98 UAF Wb IRA a¥g B gY¥ BEdl 81 T gRT SaURN e ufthar &1 1+ w1 wipfas Tura feamar war 82
1. Analysis / far&rwoT

2. Abstraction /H?ﬁWUT

3. Generalization / SHATEIHIOT

4. Experience / 3 d

Correct Answer :-

« Abstraction /maj%‘mww



5) Learning is generally considered a lasting change in behavior based on:/

qrarga: Siftrm, e W smefd sraeR # T wurdt ufad s A S 8:
1. Challenge and reinforcement / eltfaran 31X gedrapeor

2. Challenge and experience / ﬂ?ﬁm IR AT

3. Practice and experience / 379ITH 31X AT

4. Practice and challenge / 3118 3R g?ﬁ‘ﬁ?’iﬁ

Correct Answer :-

 Challenge and reinforcement / W 3R ﬁ?@m

6) The concept of “inner speech” was introduced in language development by: /
YT & AT # 3 HIHUI” B SGURUIT § §RT 3RY $1 715 ot
1. Piaget / TSt

2. Chomsky /dTFEhr

3. Vygotsky /aTgIMeaaT

4, Skinner /Tdax

Correct Answer :-

+ Vygotsky /dtsalicad

7) Algorithms and Heuristics are the strategies of ./

Ha faftr (Teniier) ok eawnr (ggRfeaw)_ &t orifaai €1
1. Teaching / fregor

2. Problem Solving / GHEIT AT

3. Learning / 3797

4. Thinking / /iaa

Correct Answer :-

« Problem Solving / HHETIAT HHATATA

8) Which of the following statements is true? /

frfaf@a & & Fi9 @ Fu9 TT 72

1. Growth is only a mental process / Ffg hael T ARG IRAAT T

2. Heredity doesn’t affect the learning process. /3iefaiferan, 31 ufehar @1 garfad A& wc &
3. Development is only a quantitative process /&, dhad Teh AFICHS Ulhar &1

4. Learning is a process of behavioral changes / 3TfORTH carasIRe gRadar & gftkar ¥

Correct Answer :-

« Learning is a process of behavioral changes / 319 TagIR® gRadar & gikar §

9) The ability to apply a given general principle to a particular situation is called ./

el frdw aRfeafy & freh Re v avmear Riquia #t awy w3 A awrar FgT ST ¥
1. Inductive reasoning / 3TITHA GE

2. Exceptional reasoning / 3garfes &

3. Deductive reasoning / /9T a&



4. Logical reasoning / dTféheh b

Correct Answer :-

« Deductive reasoning / f@1ee a&

10) What form of learning is displayed when children imitate the violence they see in their favourite video games? /

A F1 FlT A1 T BRI g § 99 a=3 3@ R A A sara § A T 39 qEder A A7 F dma {2
1. Operant learning / Rramogd 31fQera

2. Observational learning / 37deliehel 3fAITH

3. Conditional learning / et 3ifQera

4. Latent learning / 37cdwh 9T

Correct Answer :-

« Observational learning / 3Td@eiihel 37fAaTeT

11) What involves the repetition of information so that it moves from the short term to the long term memory? /
oo A FRgR & 0 wiEafad § afr a7 ag-Freda & dd-el wpfa T

1. Coding / R HeltehoT

2. Rehearsal / q@mamg

3. Chunking / afdsar

4. Storage / HHIFOT

Correct Answer :-

+ Rehearsal / qaTama

12) Differences in behavior between two cultures can be attributed to: /
o Tepfaal F fiT ageR # FR F T §¥ IR AW o wEar &
1. Geographical background / #tanfos gusfa

2. Socialization /HHTSIHIOT

3. Heredity /37TeJaifrehelt

4. Environment / dTdTdv

Correct Answer :-

« Socialization /HHATSIHIOT

13) Piaget developed important stages of cognitive development. /
RIS & goEeAs JFw & #geaqer o Efa o)

1. Five / U/

2. Eight / 316

3. Four /IR

4. Three / el

Correct Answer :-
e Four/dR

14) Tt is easier to deal with all social situations, if you are aware of your . gsh genfas fRufaat & Avear smae €, 3y a9 o= F IR A I
gl

1. Interests / =

2. Talents / E[ﬁ?ﬁ



3. Personality / ST fthed
4. Hobbies / Qitet

Correct Answer :-

« Personality / S fthed

15) IQ scores are generally ___ correlated with academic performance. /

AR R s TR At v, deTOF e & @y wed€ead @ §
1. Least / &

2. Highly / 3rcaf®

3. Moderately / #ACIH ¥4 &

4. Perfectly / @ e

Correct Answer :-

« Highly / 3/caf®

16) Which part of the brain is responsible for thinking? /
AfeasH FT Fla 71 HIT Aaa & [e SR &

1. Medulla / FsoT (Agee)

2. Limbic system / 30ty dF (ffFas f&EeH)

3. Cerebellum / HFATETSE (FXIeela)

4. Cerebral cortex / UATEASEH Togpe (ASTA Hiead)

Correct Answer :-

« Cerebral cortex / YHTEASH Tepe (TSI HiEFH)

17) Which of the following is a part of our working memory? /
e & ¥ 9 sl Fida FR F1 w R
1. Central executive / H&T HTIHRY

2. Declarative memory / HINUTcHS i

3. Semantic memory / &1y FTHA

4. Sensory register / HaGr IR

Correct Answer :-

« Central executive / T PRI

18) Which of these classroom practices may undermine pupils’ motivation at school? /

A ¥ FIT-¥ FaT F arewrw g # Rt & Rvom # F7 F wFd@ 82

1. Teachers fail to notice students’ difficulties for remediation / R1&Ter gRT framiday &r ﬂ?%?l'l???fr FT e T & AU 38 ugada # 3% BTl

2. Teachers grade pupils’ competence as high / f1&fe grRT faanfdat fr Mezar ¥ 31w Iz gam)

3. Teachers encourage low performing learners / 18T gRT AT Ueda aa arel 1AIRAT3N A Weared &b

4. Teachers judge high achievers as excellent in high academic standard / fRI&Teh gRT 3Ta A&I01F AeAw H Scpedl F ¥ H 3TT 3UACYT UIT IR dTel SToT el

Correct Answer :-

« Teachers fail to notice students’ difficulties for remediation / {187 mﬁﬁﬂ'«’ff $r EF%H'IBTIT FT e = & o 33 U?Fﬂ?lﬁ # 3Tw &t

19) Which are the two Associative Learning theories? /

ar ggah sl Rgwuia sla-a &



1. Classical Conditioning and Operant Conditioning / MENT 3gayel (Fenfaedel Harrfeior) 3R Tard qaus (wie HEfe)

2. Classical Conditioning and Oppressive Conditioning / ATETT 34?_@'9-1?[ (FeTfAper dARAFT) 3R scdiizd 3-1%3‘21?[ GIRRAT HrrfEm)
3. Classical Conditioning and Operative Conditioning / RTEI 3Jdu=l (FelTflieher dhaerfetar) R Bramyd srqauar (3iaie S
4. Classical Conditioning and Observant Conditioning / {TTETT H’@aﬂ'ﬂ (Fenfrerer darRifeer) AR acide :Hr_@‘dd (3fTestde SareIfeim)

Correct Answer :-

« Classical Conditioning and Operant Conditioning / &I HJTUA (FATRDe HIRfeAar) 3R YoTET Igaaa (Iae FHErafer)

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall. Which stage is this approach? /

BT & AT & I Ahe AT JF § AT g7 A § fF @ F Rar § T ahg 3k aF € aE e e sEewr A
1. formal operational stage/ 3TTaTR® HiFITcAS 3raedT

2. concrete operational stage / 31?? aftparcas aear

3. sensorimotor stage / TXATEI TAEAT

4. pre operational stage /‘13; TfharHS S/a=yT

Correct Answer :-

« pre operational stage /Jd WfShaTaTd AT

21) Eysenck added a third dimension to the personality trait, which is:/
A A AfFdea & TF WY A AT a1 T &, Ig FiA-AT 7
1. Agreeableness/ HeAddl (THTee=d)

2. Conscientiousness/ 3dfdasmfierdr (dHi=faaad)

3. Neuroticism/ #gUfesH

4. Psychoticism/ dTgdifesa

Correct Answer :-

« Psychoticism/ @s®ifesa

22) A child cannot wait his turn to bat and often runs on to the field when someone is already batting. What problem could the child be facing? /

TF ol deadsil & AT YA T FT FAR AT FT Tl A 3FWR AT W lzar § 59 FE gga § § Teaars T W@ a1 &1 Toa1 Fw gaeaw
¥ ST T@T e

1. Dysgraphia / f&aanfsam

2. Attention Deficit Hyperactive Disorder / €ITATHTG Ua 3faafhadr e
3. Attention Deficit Disorder / €T 31HTd fadR

4. Autism / 3TeeH )TCATIAE(

Correct Answer :-

« Attention Deficit Hyperactive Disorder / €ATTHIG Ug Afa@fehadr faaR
23) Who among the following is a humanistic theorist? / AFIfaf@d & & i v AFGdE@E ﬁz}rmm g7
1. Sigmund Freud / R93E Wws

2. Ivan Pavlov / dTd qraeid

3. Aaron Beck / e I&

4. Carl Rogers / Pt Ao

Correct Answer :-

« Carl Rogers / @lel Il



24) Attitude towards learning is best defined as something that ./ 3910 & 9fy eRewhior # ga@ ey oF & &7 & yRenRa fFar smar & s
2l

1. can be modified only by the learners themselves/ hae RIemfdat grT & TN forar S Fehar

2. can be modified with age/ 3T & @y AT fRar a1 adar

3. can be modified by creating positive learning environments/ HHRTIcHS A ATATAROT FATRT TMAT foFar ST Fehar
4. cannot be modified/ HMAT A& foFaT ST Fehem

Correct Answer :-

« can be modified by creating positive learning environments/ ShRIcHA® fAIH TATERT Far FAMAT fFar 1 Fevar
25) Round Robin Charts are used as a formof ____ ./

WsAIRTIE____ FwH ygeFa o §)

1. Summative Assessment / T Tehetel

2. Diagnostic Assessment / fAGTATCHS el

3. Interim Assessment / 3R eheled

4. Formative Assessment / {TdelTcdHh ATdhelel

Correct Answer :-

o Formative Assessment / {TdeATcHD JThole

26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial ______ among student /

IS F Fa A o F €9, wEFaw, AT HR AEET v faeqa s@ar g At Waraa g
1. Dynamic / EfsharaT

2. Similarities/ HHATAATY

3. Diversity / fafayar

4. Continuities/ feear

Correct Answer :-

« Diversity / fafasar

27) Giving a stimulus to a child once to motivate him/her is:/

TH TR IR F& F AT 38 3afoa e e @ &
1. Continuous reinforcement / faAX Fedrertor

2. Operant conditioning /3TTUNE haTRTHT

3. Reinforcement/ﬁ?a?R'UT

4. Neutral stimulus / dC&J IS

Correct Answer :-

« Reinforcement / g€ (ALRLY

28) As a teacher when you are working in a inclusive class room, your role should be: /

T &/ $ U A o[d 31T TP FHTAZN H&T H BT $ 78 Tid &, dl 3Tyt YT gt =ifee:
1. Punisher /&8 é%{ CISI

2. Care taker / ST & dTell

3. Investigator / 3=dud

4. Facilitator / GgTd<h



Correct Answer :-

« Facilitator / Heldh

29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude test? /
dfq TF AlSH §AS FAGS Y TF W W FFA §1’ I§ FUA, 3HIR waror Hir frw Rawar 1 w7 &
1. Clerical thinking/ﬁ{ﬁiﬁﬁr Riae

2. Spatial thinking / T Rider

3. Organisational thinking / HITaeTTcae RideT

4. Intellectual thinking/?ﬂﬁ'cﬁ Riga

Correct Answer :-

« Spatial thinking / TaTfa® Rider

30) What is the term used to denote the basic, innate disposition of a child? /

TF T4 & He, SeAaTd @ F AeRd F @ F v B gg w1 e R s
1. Personality / afthed

2. Temperament / El'cﬁﬁf ar ﬁm

3. Disposition / R3]

4. Attachment / Fa

Correct Answer :-

« Temperament / Yeptd AT frstrar

Topic:- General Hindi (L1GH)

f
|

1)am°fmﬁﬂmﬁﬁaﬁqﬂmmimmﬁﬂ#ﬁwﬁ;a‘gwmﬁ%lmiﬁ#ﬂﬂwm $r
FA-FT W “FS @ At @, mmmlﬁmmaﬁaﬁﬂﬁ:#mwm*ﬁﬁmﬁm
ag?rama'@ﬂ%lwu‘gm%ﬁ#maﬂém#mmaﬁaﬁtmmaﬂ%ﬁmiﬁaaaﬁvaﬁ =

#H g FT uga Al

I9YFA AR FT TGHF A IS AT G T 3o/ IdA30|
W ‘FG @ ar 7gr F @ w7 3§72

1. 9ia1

2. sfawfaa

3. faQw

4. JPR

Correct Answer :-

. faw

Z)a;aﬂm#mm%qﬂmﬁimmﬁa;ﬁmﬁ:ﬁwm%lmﬁ#ﬂﬂw B ST B W wA F ag
FI-FAT S “FE @ e, mmmlmagamaﬁgmwﬁ:#msvaz'g#m anfg & gl A Reaw & F O o & s g €, @
amam?%lmwm%%maﬂém#mmaﬁﬁhﬁnaﬁaﬂéﬁaﬁeﬁaaﬁﬁ?wﬁ maﬁmﬂ%w? Y ] 1 3

&) )

12

# g F uga Al g
I9YFA AR FI TG A IS AT G F 3w qa30l
ToT: 9% HUA AT @ SO & AR F AT ot 32
1. ST # & gl
2. 5T & i e
3. 59Tl 3wl g
4. 59Tt forEr 3T |

Correct Answer :-



3)a:aﬁ-mﬁﬁamﬁﬁa?a?rqﬁmmﬁi,mqm#mﬁ:ﬁwm%lmé’rﬁﬁﬂmmmmaﬁ F d6 7o,
FIA-FAT AW TS @ AN AL, SAHT A °T| T T IS A¢T g3 T A I W e F W A ;0 & TN 1 A earw ¥ B i St Fr g N E

a5 # dwd ¥l w aw W P wn A S A g1 R AR A ot 6 RO S 7 307 ey - PR 30 ot Reawnd ot dn- At A ot Prach €, Bk
# g N TEAE At

IU4FT ACHRT F GGHT AT IF AT YA FT I q@ABVI

ueel: AT 7 @R W ag Nl F 4 gD &2

1. 3 gl

2. SEHT

3. Ao
4. F

Correct Answer :-

4) m-mﬁﬁmﬁﬁ#qﬂmmi,mmﬁﬁmﬁ?agwm%ﬁma‘r#ﬂ'ﬂmmmmaﬁ

m-maun"“gﬁsma’rﬂﬁ,"mmm:ﬁagamaﬁganaﬁﬁ:ﬁmsvma:mﬁaﬁmﬁm'
FA @S §| ¥ 9% wHa § % o F1§ Sorer A wer s¥ g 3k R st A R i 7 3@ A9 - B

# g = vgEe < €

I9YFA AR FI TGHF A IS AT G FT 3/ aadA30l

e WHT T AT s grem?

1. 3EHT

2. AT

3. AN

4. H1q

Correct Answer :-
. 3EAT

5) eft- Foft F o B iy Tl Al § T wEA F A T 3w 70 3w § g @ F A o O By Soow f F a1g
w—wam?"“g?isma’raﬁ,"mmm:ﬁagamaﬁynwiﬁvifawsvm#saﬁaﬁaﬂﬁam“|mmm%ﬁmmaﬁaﬁﬁmﬁ§,a‘
agaama'@??%lafmzrgm%ﬁ?maﬁéaﬁa#wmaﬁaﬂrﬁnﬁaﬁéﬁ:ﬁaﬁaaﬂﬁ?qﬁ-mwaﬁ a8 &ar- dwst duw A Pad § O
# g F uga A g

I9GFA AR F TG A IS AT G F 30/ qas0l
weT: Y g o @ aead ¥

1. 3cTAE BT AT

2. IR & A1

3. 3d @ S|

4. 3T B AT

Correct Answer :-

o HEd ® S

6) 3ft- Fft & s B Fr whaw A §, T WA F PO fF 3@ T @A § g @ A A o A7 B e
m—ma'@'r?"“ajammaﬁ,'mmm:ﬁagamaﬁgsnaﬁﬁ;#mwm*m#ﬁmﬁ ,

Tga 77 q@ §| ¥ T5 WA ¥ B orem A Sorer A wer W g 3R A s B R e & @ e - B9 3o st 7@t &ar- dwst duw O P ¥ O
# g a g €

oi%
%
P g
43
»
g
3
%
a
3

IUEFT ACIRT F TGHT A (S AT FeA FT I a5V
o W e A frw S F Rmor frar ar §2
1. 9

2. ST

3. 3WH T



4. W

Correct Answer :-

7)M-mﬁﬁmﬁﬁaﬁqﬁmmﬁ{“,mmﬁ#mﬁagwm%lmﬁﬁwwmmm#mmﬁ*mmsﬁﬁlﬁ'ﬁm\lw“m
FAI-FIT A@?” TS W A1 7€, IeTHT S Aq7| A qge ool A¢H gan F4lid A 3T g6 aww & I A mﬂiﬁr g1 A feaww § B O ot & s @l &
mwm%lwuzm%%maﬁ?m#mms@aﬁrﬁwmaﬁ?ﬁﬂwmﬂaﬁﬂﬁ % 7o s TE - dwet duw Ao Feeh § O

# g & g A g

I94FT ACHRT F GGHT A [F AT FeA FT I q@B0
Te: SiTe T qATgaTH aeg 87

1. 3R

2. feame

3. fagar

4. del

Correct Answer :-

8) 31 mﬂmﬁﬁaﬁrqﬁmmﬁmqmavmﬁ?agmm%lm?r#ﬁﬂwmm e T A FA F ag auw o) #AX 3 g, e
FAL-FAT AW “FT @ At Ll mmwﬂ?mmﬂﬁﬁwmﬂmsﬁm?m#mﬁﬁiﬁﬁ"Iﬁvﬁam%ﬁ?ﬁwsﬁvﬁaﬁaﬁﬁg’mﬁa‘
ama'@ﬁ%lwwm%%mmm#mmwmmmmmwmaaﬁ?w Y o st A - dwl Tuw A9 BAadt § O

)

# g T EAE A gl

IUYFT ACH F GGFT AT IF AT YA FT 3 q@BV
woT: ‘oY Fo off Rwnd adf &ar Fea ¥ amerT 77
1. 9% I G Tl

2.9% A1 A& Gl

3.9% W A& Hebelll

4. 9€ G AL Fepcll|

Correct Answer :-

o 9% W AL bl

%
i

9)anfrmﬁ#mmzﬁqﬂmm§mmﬁ*ﬁvﬁ?ﬁmmﬂ%lma‘r##ﬂmmmmaﬁ F ag I
FI-FAT EE@?” “FS @ @l mmmlﬂﬁmmﬂﬁﬁnwﬁ?#wwm#m g & T €1 AT g ¢ B e e i i e € 9

wga wo dwd ¥ a0 ag Wi § B e A S o e o o A R off Y6 R ior o 307 a9 - O g0 ot s ot e et s it Preh ¥, R
# g = gea A €

I9YFA AR F TGH A IS AT G F 3w qa30l

T wREeT B §7

1. §ehdes foma

2. Gehdieh 3R 37eheieh aldl

3.5 ¥ BIS AA

4. 37 TRaT

Correct Answer :-
. ghdd oRaT

10) - m#mmfrqﬁmmﬁgmmﬁﬂ:ﬁvﬁ;a‘gw?@ﬁ%lmﬁ#ﬁwhﬁm#ﬂtmﬁ#mmﬁlﬁmm,“m
FI-FAT T “FT @ g, mmm|n§a§3maﬁ§mmﬁaﬁwm$mﬁmam gl A faeaw & F O o & s i €, @
irsaama'@ﬁ%lmwm%%mﬁém#mmaﬁsﬁrﬁwaﬁaﬁéﬁaﬁaﬁaaaﬁ?ws} IECE 7@t &ar- st duw A P ¥ O
ﬂammmﬁil

I9YFA AGHRT FT UG AT IS AT YA F 30X qaAs0l
woeT: ‘A 1 qafaa aeg A §?

1.1



2.3
3. g@r
4. ed

Correct Answer :-

11) ot woft F o B A7 e AN §, T WEA F v F 7@ 70 @A §) g@ & A AN oF A7 B o A K w@F 96 aww

FAFAT EW?” “F W A 7, ST STaT A7) A AGA I G g FH A I §W @ & 3w F ;L @ T G| AW Rearw § B O ool Hr i @l ¥ 9
amawr%lmwm%ﬁ;mﬁéﬂaﬁmmajﬁhhaﬂaﬂéﬁaﬁﬁaaﬂﬁ?:ﬁ-mgﬁmgkaﬁaﬁam- St Y e e § O

# g & ggae A €1

I9YFA AR FI TG A IS AT G F 30 qas0l

WO ‘IS FT aAId g2

1. PRUT

2. 31

3. 3T=ROT

4. 3TeTET

Correct Answer :-

o 3T

12) w3ft- ot F s Bt A e A §, T wEA F Qv F 7w F0 iwd § @ @ H A oF By B e f W FA F 9@ aww @i AF 3@ g,
m—wam?"“gmmmaﬁ,'mmmgs?agamaﬁgaﬂﬂiﬁ:ﬁaﬁsvm*mﬁmaajﬁ“l#{rﬁﬁm 5 e e & g e €, @
g F4 3@ §| T IF WA § B owen 8 S F wer sX g IR AT oft w1 Ay e 7 392 e - O o & &ar- dwst duw A Bad § O
# g & g §)

I9YFA AR FT TG AT IS AT YA F 30X qaAs0l
ma:mmagawemaﬁr?

1.t

2. fFar

3. T

4. Aacai

Correct Answer :-

13) Fogeeh
T @ Fa

are-d amy

Fai § A dig-3mr ?

g g a;

A W diEl W B ANl

gawT et ai-aix

Foqafaat

& e,

g o ge

i 3T 7 % 88 gl

TEell FoIae draw a9

aE HA gweT

A AT A FE0 2

I9GFA TEHIA B TgFT AT IS S AT GoA T I IVl



ee: STOT $T GATAT Usq 87
1. 3TRTYAT

2. Qe

3. HfdemaT

4, Harm

Correct Answer :-

14) g

T @ s

-y gy

=i § A diF-am ?

&< s an

T A ofa W @
sy et ai-aix

Foqafaat

& e,

T B v

i 39 A & oT gul

TEell Foqae draw a9

aE &t geo

AN AT F Tl 2

I9YFA TEHAT FT TGFT AT Y S AT FoeA FT I qaAsv]
geeT: ST F A s Fw §?
1. &8

2. Q=

3. Worell

4, QT

Correct Answer :-

15) wogeeh

T @ Fa

ae-d umy

Ft § A fiF-3myr ?
& Ay

AP A uial W BF AN
gasT et aik-aiix
Foqafaat

& e,

w5 et g

& IR AT F og gl
Teell FEYCTeN e M-
aE H gweT



AN AT F el 2

34T TG F GH A I I qA WA F I A0
“H:ga‘oﬁih_ﬁmﬁ?ﬁ%?

1. AR

2. Bl

3. 3@

4. glo

Correct Answer :-

& &,

T o v

& 39 A & o gul

TgAl FoYTe T wIf-

a5 Ft gTo1

A AT H Tt ?

394FT TEIA F YGH A9 IS I q@ WA F 5w a0
weeT: ‘et WY W @S v Fqeray F 3T FAT 72
1. yfaafda g

2. fadgper g

3. HFHATT e

4. TaTGEE BT

Correct Answer :-

. TaEcEr @



agell Foqael At wel-

Iz =0 FeoT

A AT FH Tl ?

IYYFA TEHIT BT TG A Y S AT FeA FT 3w IR0
geeT: fFEF A H GAWYH TaIdT A FTST FAIM?

1. T o

2.5 @ PIg &

3. 9gmr

4. 919 3R Tgeh HYaeh T

Correct Answer :-

& &,

g R ge

& 39N AT F B Ul

vgelt Foqael e eaf-

I & geOT

A AT FH Tt ?

I94FT TG F IGH A IF T qA WA F I @0
W UF FoYA HT aTd N FoYAteral F1 FH aereh 2
K )

2. et

3. 3refT

4. IR
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& IR AT F B I

Tgl Foqael drEa waft-

ag Hel gwor

A AT A Sl 2

I9YFA TEHIT BT TGHF AT Y A AT FoA FT I I
eT: g ¥ PEHRT U F v Fogae?

L. 97T T ¥

2. AT B

3. fagie & ®I

4. 9@ FATR B

Correct Answer :-

. fage & &I

5 &,

T R g

& 39 AT F BT Ul
vgell Foqael W wel-

T @ oo

A AT A Tl ?

IYYFA TEHRT BT TGHF A Y& A AT FoA FT I IS0
WoT: FoYCel FAT AR 82
1. e

2. T

3. 3TSThdT

4. Telrelr
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g fa ge

& IR AT F o8 gl

Teell FOYCTeN e M-

aE H gweT

A AT A T ?

I9YFA TEHIA B TgF AT IS S AT FoA FT I Il
WR: FoYA! FIT AEA 82

1. 3 W ATT=AT|

2. 7E § 3 ST

3. 309 Ulg W o @1 @l

4. 3T Ui WX WST §heAT
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« 3O Uiq WX @37 Bl
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Fi § A diF-3myr ?

Fe g a;

T N ot W S AN
gasT et aik-ai

Foqafeat

& s,

g Rt g

& IR AT F Bg gl

Tgell FEYTen e M-

ag el gwer

AY AT A Sl 2

I9YFA TSI BT TgF AT Y& S AT FeA FT I Iadsvl
WR: FYAS FT F HH FAT Feel 87
1L IA-0S F ig F=4 §

2. AU T 9y F=4 R

3.3 -0 T Foydterar =t
4. SRAH |AT
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Fe g a;

@ A o W o1 AN
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& e,
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& IR AT F o8 gl

TEeht FHoqael e -
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W FoUforAl N T F aIT Pl T T@T §?
1. gmm
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3. o

4. FITHT B
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2. el Yool
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4. %15 3R gl axar
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. 16 AR gaeh =t
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S9c | 3T ITl AF YA AToleAd Hool: FAAMT §odd | SeddA™d
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TeheT S ATEATIOT: HiRdd gfdel: Hoolkd HAIATSINA | deT
Hool: o SeAUfAH gcdl, dAH 3ah YIRS | Od: @ oder
TSAHATT - “Tolel, $iiored aedied deq faReRfy @re | qarfe
TATATT FUAIA -T5ATIcIsd auiful eaATdGATdH |$ioRToled sfieded:
gaist  efgomuer 1 sfa derRud Hsen:  WIqad  AeegtiE:
facorAd §3@ | ddl gganfadld ISR, mﬁ&aﬁﬁﬁﬁ e e
JYATEEeT |

34t gganteaafa: 3 -



IR afdcal TeaE T qeHc I -
U @eyel @1 Tom R aReER 9o gRuefd € | 88 a8
et 3T O FASIT | Fartad | 9 st #vel Ao 3oy,
SEECIICIC IS ECCHEC It ACTAAICTATE oA - “geug
TCTEHAANIRUEAY  HeATsd, Tsd A GITad dal oliehiaara]
qId | IUAT 9T AA Jd ToTllsd Hool: FIAT §oald | GedAT
Ted AT T, HEIel: deitedeed HeFAdd’ §id | vd faumd #sedd
s iy, sitel qwdicasd faqel | da: @rershder fAetel aRgfd:
PIAAL ITd: | ICRST Hool: HEIAAE gﬁialdlmmm ATl GUPcd,
3T dcde TAYAAY |

Tehel S AEATAIOT: HRIA gfdel: Hookd HAIATSTINA | deT
Hool: G SAUMAH &cdl, dAH 3adh UUTS | dd: @ oder
TAAHATT - “UST, o AFAed o AR drer | qanfa
TATATT FAATH -T5A1RIcT>d INITOT CAATAGATTH |$ToRToleT siteraed:
ST 1o & B -1 B G 2k B EC R | 5 S M C O U E I R
faToAd §3d | ddl ISINEYld ISR, HaHaldie e
JYATCE |

hal ﬁfl_uu—om+u g-ar: Holldd -

1. Q\Tgﬁ



URTde dfScar TeaTed AGHcR FaAdd -
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TACATHIEARIT HEQIET Al UM Fodeedieded| AN LI,
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T d e7afd aRal Tg Joom faeier

HART T IRISC Prseare Al aRe: ||

HAAT: Teeldl: Telcl Fafoe |

Topic:- Mathematics (MAT)

1) From the sum of 2m?2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 and 5n2 + 4np + 2p2-p subtract the sum of 6n2—m?2 — 5p2 — 4mn and —-m2 + np + p2+2p. /
2m?2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 €d 5n2 + 4np + 2p2-p & GT & & 6n2 —m?2 — 5p2 — 4mn TG —m?2 + np + p2+2p & TNT & GeTT|

1. 11m2 +8n?- 4p2 -4mn —2m?2 +6np + 2p

2. 3p2

3. 5p2 %+ 8np

4. 8n% - 5p2-7mn —2m2 + np + 2p

Correct Answer :-

. sz n?+ 8np

2) A farmer wants to fence his regular hexagonal plot of side 200 meter. What is the total length of rope required? /
Tw B 200 Wex YoiI F TH-VCY ATHR aTd YES & 918 T I1gdl 8 1 3HS 1Y ATaxas Wl Bt ot waTs fea-i gl
1. 1400 meter / 1400 Hiex

2. 1000 meter / 1000 HeR

3. 600 meter / 600 HieX

4. 1200 meter / 1200 e



Correct Answer :-

« 1200 meter / 1200 ez

3) On selling a tea set at 10% gain and a lemon set at 20% gain, a crockery seller gains 26. If he sells the tea set at 5% gain and the lemon set at 15% gain
he gains 17. Then the actual price of the tea set and the lemon set? /

10% & ATH TR Teb &1-3< 3MX 20% & A1H W U Ydd-9¢ 991 W, Th I} fdshdl 26 TUY BT AT U T ¢ 1 Ul 98 5% & ATH R -8 TUT 15% & dH W)
Trdd-Ye ST 8 A ¥ 17 IUA BT A1 U e B, A -Je v 2da-Ae $1 arafas 9 8?2

1.75, 80
2.200, 100
3. 100, 80

4. 150, 120

Correct Answer :-
« 100, 80

4) A hotel requires 91 bottles of oil for a week. Find the cost of oil it will require for 58 days if one bottle costs Rs. 98. /

TS Elcd &1 U Jue § 91 §ida da ®1 ATaaHdl gial 81 afe TS siddl 31 anTd 98 $UA §, Y 58 3T & RIw naxg® 9@ 91 arTa 3 B3|
1. Rs. 72384 / 72384 ¥0

2.Rs. 75460 / 75460 T

3.Rs. 75400 / 75400 TUJ

4.Rs. 73892 / 73892 ®UA

Correct Answer :-
« Rs. 73892 / 73892 ¥u&

5) Breaking up of the mathematical concept into smaller parts is termed as ./
T @R B Bt R & dier Ckic K]

1. synthesis / T&WOT

2. analysis / frgor

3. inductive / 3TITHA

4. deductive / T

Correct Answer :-

 analysis / fagyor

6) Fill in the blanks. /

e =M W

I-53+__=53

II[11+ (-14)]- () = () + [(-14) + (-9)]
1.1:0, II: -9,-11

2.I:0, II: 9,-11

3.1:53, II: -9, 11

4.1:106, II: 9, 11

Correct Answer :-

« 1:106, 1 9, 11

3
7) If the volume of a vessel in the form of a right circular cylinder is 448 ™ “™" and its height is 7 cm , then the CSA of the cylinder is i



I TF 9 T I F PR I TP T BT AT 448 T T3 o7 gt S 7 A R, < o o1 99 e v 2
1.464 sqcm / 464 T JA

2.378sqem / 378 a9 {aY

3.352sqcem / 352 T I

4.482sqcem / 482 Tt [

Correct Answer :-

e 352sqcm / 352 GOt JA

8) If the perimeter of a regular octagon is 320 cm, then the length of one side is: /
Tfe T T TYS FT URATY 320 A §, &Y 3T TP Yol P AaTE @

1.60 cm / 60 WA

2.80 cm / 80 WA

3.40cm / 40 @

4,70 cm / 70 [

Correct Answer :-
e 40cm / 40 T

9) Which of the following will give a whole number result? /
Pt & ¥ SF-"1 ko & v § v guf Twemn 3me
i. 6-2

ii. 6/5

iil. 0x3

iv. 7-9

1. AN, i, i, iv /3 i, i, i, iv

2.i,and iv/i, Td iv

3.Onlyi / &de i

4.i,and iii / i, T iii

Correct Answer :-

e i,andiii / i,T4d iii

10) A conjuncture is a statement which we believe is true, based on mathematical intuition and if we proved it, then it becomes a ./

Wém(m)wmw%mwmﬁﬁﬁma@Waﬁhwwwﬁa%aﬁ?mmsﬁmﬁawﬁma‘rww T
EiciE]

1. postulate / 3fHUROT

2. axiom / TTARIE a1 Rgra
3. theorem / UHT

4. statement / AT

Correct Answer :-

« theorem / Y&

11) Amicable numbers is discovered by ./

TiFed AR I @ FRT B |
1. Euclid / gf&Fers

2. Thales / ¥

3. Pythagoras / TISITIRA

4. Plato / Telel



Correct Answer :-
« Pythagoras / UTSUTIRE

12
) Ifu,= x,—900 X% fiu,= —400,% f; = 100. then x= Wi

I u, =x, — 900,% fiu,= —400,Xf, = 100§, al = :
1. 984
2. 546

3.782

4. 896

Correct Answer :-

* 896
13) i
Evaluate — = 2then xis:
x"t2x+4
& & xS_S :
Hedima & =28, A x ¥
1.2
2.1
3.3
4.4

Correct Answer :-

14)  In APQR and ALMN, PQ=NM. £P= # M. The two triangles will be congruent by
SAS axiom if -

APQRUF ALMN #, PQ=NM, £P=£M 1 #AT-HIUT-#aTT [AGId €@rT &r
Be[a @dEEHA g, At

1. QR=ML

2. PR=ML

3. QR=MN

4. PR=LN

Correct Answer :-

« PR=ML

In the given figure, O is the centre of the circle, £ 0AB=60° and the radius
of the circle & cm. Then the area of the triangle is:

few v @@T & 0 gea F FF § 20AB=60°3HR Fea F F=aw
6 TAT &, O TR &7 & % &

A B

9v/3 cm? 7 93 FA?



13v/3 em?/ 13+/3 T

732 em? / 742 FER
3.
4.6 cm? / 6 2

Correct Answer :-

913 cm? / 93 THE
16) . : S =
In an equilateral triangle ABC, AD 1 BC, AD® = xEC* then x =
U% FHAG 8T ABCH, AD LBC.AD? =xBC2. Al x =
3
1. %
X
2. £
4
3.8
4.4

Correct Answer :-

| W

17)
If @ and f§ are the zeroes of the polynomial 3x? + 5x + 7, then%-i—% is

aﬁauai,@a—g'q—q'ax2+5x+7ésgmﬁa’r%+§= |

1910

2101

190
343

37
82

243
310

Correct Answer :-

190
. 343
18)

If the side of the equilateral triangle is 4+/3 which is inscribed inside a circle . then the area of
the circle is:

afe wHaTg e 1 4o 443 § S U ded & e 3HThd §,dl Ied &1 alahe g
. 361 cm? / 361 JE?

16m cm? / 16n T2
2.



97 cm?/ 91 HHER
151 em?/ 157z 2

Correct Answer :-

16m em? / 16n T2

19) 14 two triangles ABC and PQR , AB=QR BC=QP AC=RP then-

ar Bt ABC 3R PQR #, AB=QR, BC=QP, AC=RP &, dn:

AACB
1.

Ile

AQPR

AABC
2.

Its

ARQP
, AABC = aPQR
, AABC = AQRP

Correct Answer :-
AABC 2~ ARQP

20)  There are 30 laddusin a plate. Anil took? laddus if 10 laddus remained balance. Choose the
matching equation.

uaﬁane?rﬁ?,oasg%aﬁasﬁrga—ﬁaﬁmlaﬁma@\mmmﬁﬁ
AT FHIERT T =TT R

Z—10=30
2

30-2+10=0

n

30+ 10=

n

30-2=10
4, -

Correct Answer :-

30-2=10
ABCD is a trapezium in which AB || DC. If arfAABD) = 24 cm? and AB = 8 cm, then the
altitude corresponding the side AB of AABC is .
ABCD Us THee b, 598 AB [ DC 21 IfE(AABD) &T &i5thel =24 GE2 M AB =8
T 8. d AABCHT HIId =T ABFI F=5 R
1.16cm / 16 @3
2.8cm / 8 @3l
3.7cm / 7 T

4.6cm / 6 QA

Correct Answer :-



22
) If PQRS is a trapezium in which PQ|RS and PS=QR .then:

Ife PQRS U THeT ¢, et PQIRS 3R Ps=QRE, an:
LP =18
LP=+R
£Q= 148
£P =10

Correct Answer :-

LP=1Q

23)

If @ and 8 are the zeroes of a quadratic polynomial x? — 3x + 7, then the quadratic polynomial

whose zeroes are = and Sis
4 g
afE avap gfduma agug x? - 3x+ 7 F YIF g ar o gmiua”% tag
geura gus ¢l
1 X2=3x+7
2'?x2—3x—1
3'?x2+3x+1

4'?x2—3x+‘l

Correct Answer :-

24) The average temperature of Monday, Tuesday and Wednesday was 75° C, while the average
temperature of Tuesday, Wednesday and Thursday is 77° C. If the temperature on Thursday was
76° C then the temperature on Monday was -—--—-—--—--— .

HHATR, HIaR 3R gear &1 3ied auanr 750 Afcaaw o, siefs Ao, g2ar
3R TEER F1 sitea amEe 770 AT 81 3 TEAR @ auAE 760 eI o,
dar FHEER T araAed o

Correct Answer :-
700 C

(1137 +(279)*
(113)2-113-279+(279)2

1.113



2.392
3.279
4. 639
Correct Answer :-
e 392

26) Choose the number divisible by 6. /

6 A T3 19 arelt W &1 99 F1 |

1. 2281

2.2148

3.2186

4.2108

Correct Answer :-

e 2148

27) choose the true statement about expression 4a3 — 37bc. /

WS 4a% — 37bc S HIY H WLl HYA BT I DR

1. a, b and ¢ are the three terms of 4a3 — 37bc. / 4a3 —37bc & & Ug a, bTd ¢ ¥

2. 4a> and 37bc are the two terms of 4a> —37bc. / 4a® —37bc & & Ug 4a’ wd 37bc ¥
3. 4a% — 37bc is monomial. / 4a® —37bc THUET ¥

4. 4a® —37bc is a polynomial. / 4a> - 37bc TH TgUe B

Correct Answer :-

« 42 -37bcisa polynomial. / 4a3 —37bc TH qgue gl
28) Find 222222 x 15. / 222222 x 15$|1T‘Tﬁl

1. 3333330

2.3333335

3. 3444450

4. 4444440

Correct Answer :-
« 3333330

29) A number is multiplied by 7 and 36 is subtracted resulting to thrice the number itself. Then the number is: /
TS TSI HY 7 | UM HA TR R ITH A 36 g W ulRumdt Ten T &1 i+ 741 81 et B, <t Tem @:

1.9

2.7

3.4

4.8

Correct Answer :-

30) Psycho-motor activities under mathematics deals with: /

Tfora & Sianfa TrgHI-Aer nfafaferar [ Hefa g1



1. All of the above / 3UB |

2. Drawing only / del Y@Iha (ITET)

3. Manipulating only / Hdel el (ﬁc‘-ﬁ'ﬂﬂﬁﬂ)

4. Model making only / Pad Aisel AT (Hisor Afehar)
Correct Answer :-

« All of the above / 3TRITH T

31) Using the divisibility test, determine which of the following numbers are divisible by 8? /
fvTerraar e &1 IuanT a3, Fruffta o3 % Fafif@a § § $-0 den 8 @ e 22

1. 68324

2. 98780

3. 74612

4. 37136

Correct Answer :-

e 37136

32) The term synthesis in the Bloom's Taxonomy is revised as ./
A & TR | Weg HRAYO B F ¥q & Y=E far T g1

1. Analyzing / fa&wor

2. Evaluating /31?&1?%[ P

3. Creating/ﬁ?‘ﬁ'UT Eret

4. Applying / T3] AT

Correct Answer :-

« Creating / f@@T0T e

33) 11 square pits of side 1 m are made on a plot of land 7 m long and 450 cm wide. What is the area of remaining part of land? /
7 ex @9 3R 450 It NS YA F TP ghs W 1 Hew Yo a1 11 TR T F91¢ 91 &1 Yf & A 7 &1 e fopaan 32
1.304sqm / 304 TR

2.9.5sqm / 9.5 TR

3.20.5sqm / 20.5 oI

4.31.5sqm / 31.5 @R

Correct Answer :-
« 20.5sqm / 20.5 GAHI

34) "Mathematics is the queen of the sciences and number theory is the queen of mathematics” is stated by: /
i, g 35t Tt 3R TRe Ryegia (R A v #Y W 81 O 3% SR $ET T R

1. Gauss / 38

2. Bell /9T

3. Fischer / R

4, Bernard Thomas / Ii1S ATHE

Correct Answer :-

o Gauss /3@



35) What is the successor of 99999? /
99999 #r Wadl HEAT FAT §?

1. 1000000

2. 100000

3. 99998

4. 99990

Correct Answer :-

« 100000

3.-11
4.9

Correct Answer :-

37) The graph of the linear equation 5x+3y=-15 is the line which meets

the x axis at the point: /

Y& FHAIFOT 5x + 3y =-15 F A6 9§ @1 ¢ S x e § 5@ fig W e @
C-6)

1.

2.(3,0)

3.(0,-5)

4.(-3,0)

Correct Answer :-

38) The fourth vertex of a square whose three other vertices are (3,0),
(0,0) and (0,-3) is: /

wF g9 F aGtar fiY A w, e sew die i (3,0), (0,0) v (0,-3) &
1.(3,-3)

2.(-3,3)

3.(-3,-3)

4.(3,3)

Correct Answer :-

39) The mirror image of (3,-5) in y-axis is: /
y-3181 W (3,-5) &1 gdor yfafes &
1.(3,5)

2.(-3,5)



3.(-3,-5)
4.(5,3)

Correct Answer :-

+ (-3:-5)

40) Which of the following is the equation of a line passing through the point (12,-13)? /
el & & sia g (12,-13) & TEeRe arelt t@n &1 weeor 82

1. 9x+5y=11

2. 7x+5y=19

3. 2x-3y=-63

4, 9x-5y=174

Correct Answer :-

o Tx+5y=19

41) Immediate objectives are stated under ./
TeHIT 368°F ______ & 3icera aford §l

. affective domain / HTdTcHED T&T

—

. connective domain / HITST Ut

N

w

. altitude domain / 3=dcd (Tedlcyg) UaT

BN

. cognitive domain / H=AATcHAS ey
Correct Answer :-
« cognitive domain / TATATCHD T&T

42) ABC is an isosceles triangle with AB=7 cm and BC= 13 cm. How many such triangles exist? /
ABC w& gwefaarg fager ¥, st AB=7 #aft 3k BC= 13 3+ §1 & fraat Pger Ail9g &2

1.2

2.1

3.0

4, More than 2 /2 & 31

Correct Answer :-

43) Find the co-ordinates of the point P which divides the join of A (3,-1) and B (-3,-4) in the ratio 2:1. /
A (3,-1) T@ B (-3,-4) I Siigat arelt Y@ # 2:1 F Iqura #F Renfaa ww= aelt Rg P &1 e @ w1
1. (1,-3)

2.(-1,3)

3.(-1,-3)

4.(1,3)

Correct Answer :-

44) Find the area of the triangle formed by the points A(0,1), B(0,5) and C(5,4). /

g A (0,1), B(0,5) T C (5,4) gart faffia e 1 sawer wa #



1. 8 sq.units / 8 T TS
2. 16 sq.units / 16 T3 1S
3. 10 sq.units / 10 T3 ZHTS
4.5 sq.units / 5 T FHS

Correct Answer :-

« 10 sq.units / 10 T FHS

45) learn by actually experiencing or carrying out physical activities. /
AT # IHa FE a1 aRE ARt #@ e @ @

1. Kinesthetic learners / 3Ifauze fre off

2. Auditory learners / H[dUTcHD frereft

3. Sequential learners / 3-1@?5@?5 FRraat

4. Visual learners / g8 fRvemeif

Correct Answer :-

« Kinesthetic learners / ITfaues fremaft

46) The area of square that can be inscribed in a circle of radius 6 cmis ./

39 T F SEed ?1m, TS 6 @+ Bsam areh v gu & sfaeta et fRaT ST A 3
1. 144 sq cm / 144 T JA

2.72sqcm / 72 g J

3.81sqcm / 81 gof Jafr

4,36sqcm / 36 It [

Correct Answer :-

e 72sqem/ 72 @ [

47) The great school Alexandria during 300 BC was formed by )

300391 qF & SRIeT HeW TR AT 3AT FT AT % gan faar T ami
1. Euclid / gf&Fets

2. Alexander the Great / Rehex FgTa

3. Pythagoras / UTSUTRY

4. Aristotle / 3VEJ

Correct Answer :-

« Alexander the Great / fldhex FgA

48) The centre of a circle is at (-1,3) and one end of the diameter has co-ordinates (2,5), then the co-ordinates of the other end are .

F g9 F HF (-1,3) W ¥ TUT W F1 U AT 1 A (2,5) ¥, @ q@¥ w1 Adeiw _ #
69

2. (=41

3. (00)

4. 32)

Correct Answer :-

. (=41



49) If the supplement of an angle is equal to itself, then the angle is: /
I TF FOT FT ARF F@F F & §, a For -
1. Acute angle / =g I0T

2. Right angle / GHepIOT

3. Straight angle / Sl
4. Obtuse angle / 3% HroT

Correct Answer :-

« Right angle / FIOT

50) When learners makes their own definitions, concepts and theorems, they are making ./
w9 fRramredf =it afeman, saumon s Rega T wR Ear s @Afia &= §

1. precision / qﬁ?_l@?ﬂ

2. generalisation / HTHATZHIOT

3. accuracy / JUTHAT

4. frequence / IRARAT

Correct Answer :-

« generalisation / HTHATATRIOT

51) In a singing competition, the points (maximum being 60) allotted to the 15 participants are 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48, and 46. What is the
mode of the above data? /

TF I gfaAfEar #, 15 gfasnfaal Y e av siw (3rfFaw 60 §) 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48 UT 46 §| 3URNFd HIHST HT qgerd frdar
4

52) Find the odd one out. /
S YA H AT F)

1. Radius / F=am

2. Chord / Sfrar

3. Triangle /ﬁajx_ﬂ

4. Point / ﬁ?g

Correct Answer :-

53) A primary prerequisite for the child's ability to count is: /
T 1 i fY amwar & v e nufAE od
1. None of these / 3 & Ehﬁé’ﬂ?f



2. Fluency in place value concept / TATH AT JTURCT H UdTE &I |
3. Fluency in writing numbers / T&IT oI@< # UaTg &1 |
4. Fluency with number word sequence / & QqeE, 3JhdA a'THTQIEEI'I'(»"%TI

Correct Answer :-

« Fluency with number word sequence / T&IT ?@W%Wﬁmﬁl

54) “Curriculum is a tool in the hands of an artist (teacher) to mould his material (the pupil) in accordance with his ideals in his studio (the school)” was stated by: /

"IIGATAT OF FAER (RaF) F e A v 3uSr § S 3w weiA (ege) # 9% el F IgEn swd wwa (o) # e & e g1, 9w
FYUT FAF GIRT FgT IAT &

1. Cunningham / Caciee:

2. H. Robert Beck / TH. G IF

3. Derek Rowntree / & ﬁF{a

4. W. Walter Cook / 3o, dlecy Peh

Correct Answer :-

e Cunningham / Caciee

55) Which of the following methods is not advisable for a mathematics teacher since it takes the form of a 'one man's show'?/
I F e R F v feal@a & @ Fi9-@ [ 3Re ad § w6t 97 awde or 1w dar ¥

1. Lecture method / ZaTEdT fafer

2. Heuristic method / 31T fafdr

3. Project method / TRt fafar

4. Laboratory method / weremer fafy

Correct Answer :-

« Lecture method / TaTEAT fafdr

56) The Father of Indian statistic is )
AR WA F dww ¥

1. Gauss / 3G

2. S.P. Gupta / W.tﬁ'.UIHT

3. P.C. Mahalanobis / 4T 5. Wﬁ’lﬁ?

4. Fischer / fhRR

Correct Answer :-

« P.C. Mahalanobis / t.3Y. Fgeaead

57) How many whole number are there between 10999 and 11052? /
10999 TH 11052 ¥ g fra-it gof Tt 82



58) Anu wants to find the perimeter of a 5 point star shaped polygon drawn by Amal with each side 5 cm. Help Anu by finding the perimeter of
the star. /

3, 3T GRT YWifed ol 7T Yd® 5 W Ft YT 910 5 WiEe TR ATHR & IgY T URHATY JTd BT G168l 8 | TR BT URATY 1 HIA F 3 B Fgraar
2l

1.50 cm / 50 &

2.15cm / 15 qA

3.75¢m / 75 @A

4.25cm / 25 @A

Correct Answer :-

e 50cm / 50 ¥

59) Consider the following statements: /

1.Whole numbers are closed under addition and subtraction but not under multiplication and division.
2.Integers except zero are closed under addition, subtraction, multiplication and division.

3.Rational numbers are closed under addition, subtraction, multiplication and division.

fFrafafaa sy w® R &

1. 9IS 9 UeTd ¥ dgd guf T $off ) dg frar wirar 8 W=y N vd fauTse &1 & agd 8t

2. I B BISHR WIS, UeHd, 0N TF faUTSH & dgd Quite &) d< farar simar g1

3. WIS, ¥eTd, 7UN U4 fAuTeH & dga uRag J=ssit & ¥¢ fHar wimar 3|

1. Only statements 1 & 2 are right. / Fael HYF 1 TF 2 T &l
2. Only statements 2 & 3 are right. / %dd HUF 2 T 3 I £l
3. All the three statements are right. / T &t FI=T TeT ¥l

4. All three statements are wrong. / G f\ai &I 37T ¥l

Correct Answer :-

o All three statements are wrong. / T il HFUT AT B

60) For what value of 'k’ do the equations 4x — 2y = 3 and kx + y =5 represents two lines intersecting at a unique point? /

THHT 4x — 2y = 3 T kx + y =5 F TP AR fig W & wfo=ddl Yanaii &t g=ifv & fRrg W &1 | fbaen 22
k=3
k#2
k#3

k=2
4.

Correct Answer :-

k=-2



